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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 5th Semester Examination, 2021  

GE1-P1-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 
 
 

 The question paper contains GE-1A and GE-1B.
The candidates are required to answer any one from two Courses. Candidates 

should mention it clearly on the Answer Book. 

 GE-1A 

 usikyh dFkk 

 [k.M-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12
(d) dFkkdks vFkZ ds gks \ ;ldks ,mVk ifjHkk’kk ys[uqgksl~A 
([k) dFkkek nf̀’VfcUnq HkUukys ds cqf>UN \ ;ks dfr izdkjdk Nu~ \  
(x) *Lèfr* dFkkdks ewy lUns”k ds gks \  
(?k) fojfcØe xq#³ dLrk dFkkdkj gqu~ \  
(³) *izdk”k dksfon~*dk vU; rhuoVk dFkkdk uke ys[uqgksl~A  

   

 [k.M-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24
(d) *ijeR;kx* dFkkdk pfj=g: 
([k) dFkkdkj ujcgknqj nkgkydks ifjp;  
(x) *MYysdks dFkk* dFkkdks ifjos”k  
(?k) xuqflag xq#³dks dFkkdkfjrk  
(³) usikyh lkfgR;dk izeq[k dFkkdkjg:  

   

 [k.M-x 

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) fojfcØe xq#³dks dFkkdkfjrkdks ifjp; fn¡nS *euksxzke* dFkkdks leh{kk xuZqgksl~A 
([k) izdk”k dksfon~dks dFkk izof̀rdks mYys[k xnSZ *f<dh* dFkkdks foospuk xuZqgksl~A  
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(x) Hkkjrh; usikyh lkfgR;ek ij”kqjke jksdkdks ;ksxnkudks mYys[k xnSZ mudks *èR;qdS 
eq[ksh* dFkkdk fo”ks’krkg:dks ppkZ xuZqgksl~A 

 

(?k) dFkk rÙog:dk vk/kkjek *Lef̀r* dFkkdks foospuk xuZqgksl~A  

   

 GE-1B 

 usikyh cky lkfgR; 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) cky lkfgR; HkUukys ds cqf>UN \ Li’V ikuZqgksl~A 
([k) cky lkfgR;dk rhuoVk fo”ks’krk ys[uqgksl~A  

(x) Lokf/kurk dsljh izrkidks Li’V ikuZqgksl~A  

(?k) *d#.kke;h ¶yksjsUl*ckV ds f”k{kk ikbUN \ Li’V ikuZqgksl~A  

(³) Ñ’.knklh vuknsoh dks gqu~ \ fpukmuqgksl~A  

   

 lewg-[k 

2. dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) [kM~xcgknqj fo’Vdks ifjp; 
([k) d#.kke; ¶yksjsUldks lsokdk;Z  

(x) Lokf/kurk dsljh izrkidks ifjp;  

(?k) Ñ’.knklh vuknsohdks ifjp;  

(³) cky lkfgR; j lkekU; lkfgR;ek> Hksn  
   

 lewg-x 

3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) cky lkfgR;ek lqokl nhiddks ;ksxnkudks mYys[k xnSZ *vfHk’ksd* miU;kldks leh{kk 
xuZqgksl~A 

([k) usikyh cky lkfgR;dks fodklek f[kjksnk [kM~dkdks LFkku crkm¡nS mudk cky 
dFkkg:dks ppkZ xuZqgksl~A 

 

(x) vkQwys i<sdk usikyh cky lkfgR; j lkfgR;dkjckjs ,mVk fucU/k ys[uqgksl~A  

   
 ——×——  

 


